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K n Y mif1 | ndile | nsdfis | nedifi 4
3 10 0.0 . . - .
0.1 . . . ]
0.2 . . . .
0.3 . . ; .
0.4 . . . .
0.5 ; . . .
0.6 . 1.43 . ]
0.7 1.08 . . .
08 X ; . .
0.9 1.27 1270 1.30 8.70
30 0.0 0.21 0.51 . .
0.1 0.43 4.14 1.55 1.27
0.2 045 3.08 0.00 128
0.3 0.48 1.89 1.27 6.94
0.4 0.36 1.29 2.30 1.61
0.5 0.26 4.08 1.08 6.67
0.6 1.63 0.76 0.83 4.17
0.7 028 0.00 0.44 455
0.8 0.29 431 1.39 7.14
0.9 0.30 0.00 0.55 0.00
50 0.0 0.00 0.36 - .
0.1 0.00 0.00 0.86 3.13
02 0.20 0.44 0.43 531
0.3 0.21 0.96 0.46 1.89
04 0.21 2.60 0.25 5.00
0.5 0.00 2.09 0.00 2.50
0.6 022 526 0.57 1.64
0.7 0.00 1.32 1.18 492
0.8 023 | 274 0.61 0.00
09 048 370 128 9.43
mnov “ * ynefls asdhfldruniomm R 0. M dewnn 38 oLs wie aLs

Tlennromuguanubezihwemmunmmndoulsziomit 1 14
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K n p pdiitl | nedifie | m@fs | ndii4
5 10 0.0 . . . ]
0.1 . . . )
02 - . . .
03 . . . .
0.4 - . . ]
0.5 - . . ]
0.6 . - . -
0.7 2.58 . . ;
0.8 - . . .
0.9 4.44 . . .
30 0.0 0.20 0.47 . -
0.1 0.00 0.26 . -
02 0.84 2.43 2.57 5.20
03 0.68 436 1.68 7.92
0.4 1.38 372 1.52 7.18
0.5 0.75 3.50 0.34 8.1
0.6 0.26 4.40 2.58 14.97
07 197 474 2.39 1176
0.8 0.87 10.78 332 412
0.9 0.00 3.14 1.49 7.4
so .} 00 0.00 1.26 - -
0.1 0.20 0.65 0.00 1.27
0.2 0.20 0.67 0.21 1.87
0.3 0.61 1.39 0.00 2.16
04 0.00 387 0.67 339
0.5 0.42 2.52 0.48 192
06 0.22 0.85 0.78 8.58
07 0.45 2.36 0.58 1379
0.8 046 3.85 0.29 12.90
0.9 0.00 2.03 0.65 9.20
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K n | P | mdiy | nedifia | nalils | mdi <

7 10 0.0 ) ] i ]
0.1 . . i ]
0.2 . . ] .
03 . . i ]
0.4 . . . .
0.5 : ; . ]
0.6 - ] . ]
07 : . ] ]
0.8 " ] . ]
0.9 ) ) . .
30 0.0 . ] . ]
0.1 0.80 0.20 . .

0.2 1.03 0.21 0.91 0.69

0.3 172 149 1.01 0.00

0.4 138 0.88 1.81 3.49

0.5 2.16 0.72 0.94 3.86

0.6 0.52 171 147 772

07 0.55 275 3.95 13.38

0.8 147 6.15 045 13.40

0.9 1.52 8.45 0.52 4.49
50 0.0 0.00 0.00 . .
0.1 000 | .000 A ]

0.2 0.00 0.20 020 | o021

03 0.20 0.20 042 0.00

04 0.00 0.40 112 1.52

0.5 0.21 0.00 0.00 2.53

0.6 0.43 1.69 026 732

07 0.67 4.54 1.06 9.07

0.8 0.23 148 0.30 3.90

0.9 0.71 3.50 0.63 1.63
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OB AN S SN A AR N AR AN SN IR IN R ISR IR ARSI ERIR RN SRR IAR SRR USRI S PN RIS
c* A COMPARISON ON TESTING PROCEDURES FOR DIFFERENCE  *
C*  BETWEEN TWO POPULATION MEANS BASED ON MULTIPLE .
c* DEPENDENT VARIABLES : BON , JAM , OLS , GLS AND WFY s
oSN E AN RSN E S s NN e TR RO AR RN R SRR RN R RSP AN RS SAARR RSP RRINANS
C MAIN PROGRAM
DOUBLE PRECISION T(7),PH(7,7),INP(7,7)
REAL Y1(50,7), Y2(50,7)M1(7),M2(7),B(7,7),P¥(T),POI(7)
*  PO(7),POX7),POKT),POS(T)
INTEGER CP1(7),CP2(7),CP3(7),CP4&(7),CPS(7),INDX7),FAC
CHARACTER ECORR, TYPEI
COMMON /SEBD/LX,LL
»  /SSEED/LSX
*» /DVARK
*  /CRITRZ
*  JALPHA/AL
*  /CORRP,C
*  /CHAR/ECORR,TYPEI
» /NUM/N1,N2
*  MBANMIM?2
OPEN(1,FILE=1P")
OPEN(2,FILE='OP")
LX = 16807
LSX = 17
LL =0
NROUND = 500
1  READ (1,%END=30) K,N1,N2,C,AL. TYPEI,ECORR
WRITE (2,*) HINPUT DATA##'
WRITE (2,*) 'K,N1,N2,C,AL="K,N1,N2,C AL
WRITE (2,%) ‘TYPEI=',TYPEI,'ECORR=',ECORR
IF (AL.BQ.0.01) THEN
| Z=232635



BLSB
Z = 1.64485
END IF
DOSI=1K
DOSJT=1K
IF (LEQ.J) THEN
PQJ) = 1.0
ELSE
IF (ECORR.EQ.'Y’) THEN
PN =C
ELSE
P(1,7) = C**IABS(I-))
END IF
END IF
5 CONTINU&
DO 10I=1K
M2(T) = 0.0
IR (TYPELEQ.'Y") THEN
M1(D) = 0.0
ELSE IF (BCORR.EQ.'Y’) THEN
MIQD) = 0.5
ELSE
MIQ) = 0.1%KI+1)
END IF
10 CONTINUE
C* INTTIALIZE COUNTER *
IF (TYPELEQ.'Y') THEN
NRl =0
NR2 = 0
NR3 = 0
NR4 = 0
NRS = 0
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ELSE
DO 151 = 1,K
CPI(D) = 0
CP2@) =0
CP3() = 0
CP4(T) = 0
CPS() = 0
15  CONTINUE
END IF
DO 20 IR = 1,NROUND
CALL GENY(Y1,Y2)
CALL CALPV(Y1,Y2,PV,T)
CALL ASSORT(PV,IND)
CALL BON(PV,NRPR1)
IR (NRPR1.NE.0) THEN
IF (TYPELEQ.'Y') THEN
NR1 =NR1+ 1
ELSE
CALL POWER(NRPR1,CP1)
END IF
END IF
CALL JAM(PV,NRPR2)
IF (NRPR2.NE.0) THEN
IF (TYPELEQ.'Y") THEN
NRZ=NR2+1
ELSE
CALL POWER(NRPR2,CP2)
END IF
END IF
CALL CALPH(Y1,Y2,PH)
CALL CALINP(PH,INF)
CALL OLS(PH,T,NR3,CP3)
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CALL GLS(INP,T,NR4,CP4)
CALL WFY(Y1,Y2,T,PV,IND,NRPR3)
IF (NRPR3.NB,0) THEN '
IF (TYPELEQ.'Y") THEN
NR5=NRS +1
BLSB
CALL POWER(NRPR3,CPS)
END IF
END IF
20 CONTINUE
ROUND = NROUND
IF (TYPELEQ.'Y") THEN
TE1 = NR1/ROUND
TE2 = NR2/ROUND
TE3 = NR3/ROUND
TE4 = NR4/ROUND
TES = NRS/ROUND
WRITE (2,*) TEla",TE1
WRITE (2,*) "TE2="TE2
WRITE (2,%) ‘TH3=',TR3
WRITE (2,%) 'TE4=",TE4
WRITE (2,”) 'TES=",TBS
ELSE
DO251a 1K
NF = FAC(K,K1+1) -
POL(T) = CP1(T)/NF*ROUND)
PO2(I) = CP2MANF*ROUND)
PO3() = CP3ANF*ROUND)
PO4Q) = CP4(ANF*ROUND)
POS(T) = CPS()ANF*ROUND)
25  CONTINUE
WRITE (2,* 'POI(D="(POIM)I = 1,K)
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. . 153

 WRITE (2,*) ‘POZD)='(PO2N,I = LK)

WRITE (2,* 'PO3M)="(PO3(1),I = 1,K)

WRITE (2.% PO4D='(PO4D,I = 1K)

WRITE (2,* PO5(I)='(PO5().I = 1,K)
END IF
GOTO 1

30 WRITE (2, LX ='LX

WRITE (2,*) 'LSX ='LSX

STOP

BEND
CCCTLLCCOLLCOCOCCCCOCCOOCCCLOTTOCECoTCoCCCoCOCCCeCees
c SUBROQUTINE GENY [

,CCCCCCCLCLLCOCLCCCLCLOCCLCCLOCCCCOeCCCOOCCCOCCOCOO0Ceecs
SUBROUTINE GENY(Y1,Y2)
RBAL Y1(50,7),Y2(50,7),ZZ1(50,7),ZZ2(50,7),CO(7,7),
* MI(DHM2T),P(7,7),SCC(50,7),SC(50,7) NORMAL
COMMON /SEED/LX,LL
* /CORR/P,C
* /MBAN/M1,M2
* /DVAR/K
*  MNUMNIN2
DO10I=1N1
DO1W0JF=1K
ZZ1(1,)) = NORMAL(0.0,1.0)
10 CONTINUE
DO20I=1N2
DO20J=1K |
2Z2(1,J) = NORMAL(0.0,1.0)
20 CONTINUE
DO401=1K
DO40J=11
. SCCI,) = 0.0



30

50

70

80

SCay) =00
IF (( - 1).NE.0) THEN
Ji=J1
DO30L =111 |
SCC(,J) = SCCQ,Y) + COIL)*COU,L)
SC@,3) = SCQJ) + COJ,L)*CO(,L)
CONTINUR
END IF
CO@,J) = (P(LJ) - SCCAI)/SQRTFJI,N)-SCAD)
CONTINUE
Kl =K-1
DO 50T = LK1
Il =1+l
DO 50 J = I1,K
coq,h = 0.0
CONTINUB
DO 701 =1,N1
DO70J=1K
Y1Q,0) = 0.0
DOGOL=1J
Y1Q,J) = Y1(L,J) + CO(J,L)*ZZ1(I,L)
Y1) = Y1) + M1Q)
CONTINUE
DO 90 I = 1,N2
DO 9T =1K
Y2@,3) = 0.0
DOSOL =17
Y2(1,)) = Y2Q,7) + CO(J,L)*ZZ2(1,L)
Y2¢L)) = Y2@I,0) + M2QJ)
CONTINUE
RETURN
END
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CCCCLCCOCCCCCOCCLCCLCCLCCLCOLCOCCCLeloceeoccieCeeeeeos

<

FUNCTION NORMAL ¢

CCCCCCCCLOCCCCCCLOCCCCLLCLOCCOCOCOCOLCLOCOCCCLCOCOCCoee

20

REAL FUNCTION NORMAL(MEW,SIGMA)
REAL MEW,SIGMA
COMMON /SEED/LX,LL
* ZiZ2
PI = 3.14159265358979
IF (LL.EQ.1) GOTQ 20
CALL RANDOM(RAND)
R1 = RAND /
CALL RANDOM(RANDY)
R2 = RAND
Z1 = SQRT(-2*ALOG(R1))*COS(2*PI*R2)
Z2 = SQRT(-2*ALOG(R 1)) *SIN(2*PI*R2)
NORMAL = Z1*SIGMA + MEW
LL=1
RETURN
NORMAL = Z2*SIGMA + MEW
LL = 0
RETURN
'END

Bl

CCCCCCCCCCCCCOCCTOCCCoeeeieeeeceeeceecceceececececececee

N

SUBROUTINE RANDOM ¢

CCCCCOCLCCOCCCOOCCLCCLCCCCCoCCCCCLLCOlCoCeeeCCooecoceeee

SUBROUTINE RANDOM(RAND)
COMMON /SEED/LX,LL

CON = 2147483647

LY = LX*16807

IF (LY.LT.0) LY = LY+CON+1
RAND = LY
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RAND = RAND/CON
LX =LY
RETURN
END
CCCCCCCCCCOCCCLLCCCCOCCCLLCCoCCCoCCCCCOCCOLCileeeilocel
e SUBROUTINE CALPV c
CCCCLCCLCCLCLCOLOLCCLLCLoLoCCLLlOCCLCoCoLoCocCooeooeel
SUBROUTINE CALPV(Y1,Y2,PV,T)
DOUBLE PRECISION SP(7),T(7),5S,AVRG
REAL Y1(50,7),Y2(50,7),BV(7)
COMMON/DVAR/K
*  /DOF/DF
*  /[NUM/N1N2
IDF = N1 +N2 -2
DF = IDF
DO 5T =1K
SPQ) = (N1-1)*SS(Y1,N1,I)+(N2-1)*SS(Y2,N2,)))/DF ' Nt
T(J) = (AVRG(YL,N1,J) - AVRG(Y2,N2,J))
* /DSQRT(SPJ)*N1+N2)/AN1*N2))
TR = T() |
PV()) = 1.0 - PROBST(TR)
5  CONTINUE
RETURN
END

CCCOCCLCOLCCOTLLCLCLCOLCCOCOCLCOCOCECCOCCOOCCLCoCoceecee
¢ FUNCTION SS c
CCCCCLOCCTLCLCCOLLLLCOCLCCCLLCOCCCCCOCCCCCCOCCCOCCOoceee
DOUBLE PRECISION FUNCTION SS(Y,N,J)
DOUBLE PRECISION AVRG,YBAR,SUM
REAL Y(50,7)
YBAR = AVRG(Y,N,])
SUM = 0.0



DO10I= 1N .
SUM = SUM + (Y(1,J) - YBAR)**2
10 CONTINUE
SS = SUMAN-1)
RETURN
END .
COCOCCCCOCCOCCOLCCCCLCCLCCLCCCOCCCCCCOLLCCeCCLCCOeooeCors
¢ FUNCTION AVERAGE ( AVRG) c
COCCOCCOLOCCOCOLCCCCCLCCCLOCCCLCCCLCOCLOCCCOCCCCOCCeCCl
DOUBLE PRECISION FUNCTION AVRG(Y,N,J)
REAL Y(50,7)
SUM = 0.0
DO1SI=1N
SUM = SUM + YQ,J)
15 CONTINUR
AVRG = SUMN
RETURN
END

cccccccccccoocococccccocococccccccccoccoccccocccccwcéocooc

c FUNCTION PROBST c

CCCLCCLCCCLOCCCOCCCLLOOLeCLioOoCiCoicCooolooelooooiocecee

REAL FUNCTION PROBST(T)

FREEDOM

O O 0 0 0N

COMMON /DOF/IDFR
DATA G1/0.318309886%
P = IDP

A = T/SQRT(F)
B = FAR+T**2)

COMPUTE THE AREA FROM -INFINITE TO TIDF) UNDER A
STUDENT'S CENTRAL T-DISTRIBUTION WITH IDE DEGREERE OF

157



M2 = IDF - 2

IOE = IDF - 2%(IDF/2)

S=10

C=10

KS =2 +I0OB

FK = KS

IR (IM2-2) 7,5,5

5 DO 6 K = KS,IM2,2

C = C*B*FK-1.0)/FK
§$=§+C
FK = FK + 2.0

[«

CONTINUE

-~

IR (IOE) 8,8,9
" PROBST = 0.5 + 0.5*°A*SQRT(B)*S

0

GOTO 12

9 IR(DE - 1) 10,10,11
10 _S=00 :
11 PROBST = 0.5 + (A*B*S + ATAN(A))*G1
12 RETURN |

END
CCCCCCCLOCCLLLOLOLLLOLLLOCoOLoioCoCeCCCooooCCoCoCCoCCLoCCCoCCecoe
¢ SUBROUTINE ASSORT USING SHELL SORT BY INDEX ¢
CLLLCCSCLCCCLOLCOLLLLLOLLLOCLOLOCCLeCOCOCTCCOCOLCCCCCCOCCoCCooeee

SUBROUTINE ASSORT(PY,IND)

RBAL PV(7),S

INTEGER IND(7)

COMMON /DVARK

DO 101 = 1K
10 INDQ) =1

JUMP =K
20 JUMP = JUMP22

IF (JUMP.NE.0) THEN
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R=K- JUMP
DO 30 J = 1,72
DO 301 = J,1,-JUMP
25 T3 = I 4 JUMP
IF (PV(D).GT.PV(J3)) THEN
$ = PV(QD)
PV(D) = PV(J3)
PV(3) = §
L = INDXT)
IND() = IND(3)
IND(J3) = L
END IF
30 CONTINUE
GOTO 20
END IF
RETURN
END | -

CCCCCCLCLOLLCLCOCCLLCLLOLCCOCLLOLLCOCCOCLOCCCOOCOCCLOee

¢ SUBROUTINE BON ¢

CCLCCCCLCCLCLOCLCLCLCLCCLLOCLCLCOCCLCCLCCCiCCLLCCeeelee
SUBROUTINE BON(PV,RPR1)
REAL PV(7)

INTEGER RPR1

COMMON /DVARK

*  JALPHA/AL

. /MNUM/N1,N2

RPR1 =0

DO 101=1K
CR = ALKK-I+1)
IR (PV(T).LB.CR) THEN

RPR1=RPR1 + 1

ELSH
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- GOTO 20
END IF
10 CONTINUE
20 RETURN
END
CoCLECOCCCOCCOCOCCCCCCCOCCCLCOCOLCOOCLoCOCCoCCooeeoecoc
c SUBROUTINE JAM c
COCCOCCOCCCOCCOLCCeCOCCOCOCOCOCCCCCCLOCOOCoCorieococeee
SUBROUTINE JAM(PV1,RPR2)
DOUBLE PRECISION D1,D2,D3,D4,A,PPND,PHIG(3),
» DONE,DTWO,DADIP
INTEGER RPR2
REAL PVI(7),LOP(%,T)
CHARACTER ECORR,TYPEI
COMMON /DVARK,
*  JALPHA/AL,
. /CORR/P,C,
*  /CHAR/ECORR,TYPEI
DATA G/0.14104740,0.05814822,0.03219472/
DATA ONE/1.0/,TWO/2.0/,DONE/1.0D0/,DTWO/2.0D0/
RPR2 = 0
TK = K2.0 - 0.5
DOI00L=1K
D1 = (DONE - PVI(L))}**K-L+1)
D2 = DONE - PVI(L)
A = PPND(D2,IFAULT)
D3 = (K-L+1)*(K-L) ONE-PV1(L))**(K-L-1)*PHI(A)**2/DTWO
D4 = (K-L+1)%(K-L)*PHIA)*G(TK)/DTWO
IF (ECORRNE."Y') THEN
SUMLO = 0.0
K1 =K-1
DO SI=1Kl
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I1 = I+1
DO S J=11K
SUMLO = SUMLO + ABS(P(LJ))
5 CONTINUE '
LO = SUMLOAK*K-1)/2.0)
ELSE
LO=C
END IF
DADJP = DONE-D1*ONB-LO**2)-D2*LO**2-D3*LO%ONE-LO)
. -D4%TWO-TWOXONE-LO)*%0.5)-LO-LO**2)
ADJP = DADJP
IF (ADJP.LE.AL) THEN
RPR2 = RPR2 + 1
ELSE |
GOTO 20
END IF
10 CONTINUE
20 RETURN
END
CCCCCCCCCLCCCCCCCLCCLCCCCCCCCCCCCCOCCCCCCOCCCOCOCOCCCOCeece
c FUNCTION PPND c
CCCCCCCCCCOCCCLLCCCOCCOLCCOOOCCCeoCeCCCCCCOCCCCCOCCOoeeses
‘DOUBLlB PRECISION FUNCTION PPND(P IFAULT)

PRODUCES THE STANDARD NORMAL DEVIATE Z CORRESPONDING
TO A GIVEN LOWER TAIL AREA OF P

IFAULT = 0 IF 0<P<1.
IFAULT = 1 OTHERWISE.
IF IFAULT = 1 THE VALUE OF PPND IS SET EQUAL TO ZERO

O O 0 0 O G Q O

DOUBLE PRECISION ZERO,SPLIT,HALF,ONR,




A0,A1,A2,A3,B1,B2,B3,B4,C0,C1,C2,C3,D1,D2,
P,QR

DATA ZERO 0.0D0/,HALF 0.5D0/,0NE /1.0D0/
DATA SPLIT 0.42D0/

DATA A0/
DATA Al/
DATA A%
DATA A3/
-DATA Bl/
DATA B2/
DATA B3/
DATA B4/
DATA C0/
DATA CV/
DATA C2/
DATA C3/
DATA Di/
DATA D%/

2.50662 82388 4D0/
-18.61500 06252 9D0/
41.39119 77353 4D0/
-25.44106 04963 TDO/
.=8.47351 09309 0DO/
23.08336 74374 3D0/
-21.06224 10182 6D0O/
.3.13082 90983 3D0/
-2.78718 93113 8D0/
-2.29796 47913 4D0/
4.85014 12713 5DO/
2.32121 27685 8D0/
3.54388 92476 2%/ o
1.63706 78189 7DO/

IFAULT =0

Q=P - HALF

IF (DABS(Q).GT.SPLIT) GOTO 1

R=Q*Q

PPND = Q * (((A3 * R + A2) *R +Al) * R + AQ)/

* ((((B4*R +B3)*R +B2) *R + Bl) *R + ONE}

RETURN
R=P

IR (Q.GT.ZERO) R = ONE - P
IF (R.LE.ZERO) GOTO 2

R = DSQRT(-DLOG(R))

PPND = (((C3 *R + C2) *R + Cl) *R + CO)/
* (D2 *R + D1) *R + ONB)

IF (QLT.ZERO) PPND = -PPND
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RETURN
2 IFAULT = 1
PPND = ZERO
RETURN
o
CCCCCCCOLCCCCCOCOCCOOCOCCOCLCOCCCOLCLTCOoCLLCOCOCoCeCCoocs
c FUNCTION PHI ¢
CCCCCLCCCOCCCCCCCLCLCCOCCOCCCLCCLCCCCeLLiCOCLCLLCLCCoCoeole
DOUBLE PRECISION FUNCTION PHI(A)
DOUBLE PRECISION A, ET
DATA P1/3.14159265358979/
PHI = DEXP(DABS(A))**2.0/2.0)/DSQRT(2.0°FT)
RETURN
END
CCCLCLCLCCLCCCOCCCLLOOOCCCCLCCCCoCieiCooCCCCCCCCCCele
c SUBROUTINE POWER . c
;WWJMWWWW ! L
SUBROUTINE POWER(NR,CP}
INTEGER NR,CP(7),FAC
COMMON /DVAR/K
CP(1) = CP(1) + 1
CP(K) = CP(K) + NR
Kl =K-1 ‘
DO 201 = 2,K1
Kl=K-I+1
IF (NR.GE.I) THEN
CP(I) = CP(I) + FAC(K,KI)
BLSE
KN = K - NR
CP(I) = CP(I) + FAC(K,KI) - FAC(KN,KI)
END IF
20 CONTINUE




RETURN
END

CCCCCOCCCClCoooooocooooococoocioceeococooo CCCCCCC OOl

C

FUNCTION FAC

c

LCCCCLCCCLCCeeriooceeecceeeeeceececescecocoeceeoccceece

30

INTEGER FUNCTION FAC(F1,F2)
INTEGER F1,F2,F3,F,FL .FAC1,FAC2
IF (F1.EQ.F2) THEN
FAC=1
ELSE
FACl1 =1
FAC2 =1
F3i=Fl1-F2
IF (F3.GE.F2) THEN
F=Fi+1
FL = F2
BLSE
FaF2+1
FL =F3
END IF
DO2WI=FRF1
FAC1 =FAC1 *I
CONTINUE
DO30I=1FL
FAC2 =PAC2 *1
CONTINUE
FAC = FAC1/FAC2
END IF
RETURN

~END
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¢ SUBROUTINE CALPH [

SUBROUTINE CALPH(Y1,Y2,PH)
DOUBLE PRECISION PH(7,7),SKK,SS
REAL Y1(50,7),Y(50,7)
COMMON /DVARK
* - /NUM/N1N2
DO 10 J1 = LK
DO 1012 = J1K

IF (J1.EQ.J2) THEN

PHU1L2) = 1
ELSE

PH(I1,12)=((N1-1)*SKK(Y1,N1,71,72)+(N2-1)*SKK(Y2,N2,J1,12))
* /DSQRT({((N1-1)*SS(Y1,N1,J1)}+(N2-1)*SS(Y2,N2,J1))
* *((N1-1)*SS(Y1,N1,72)+(N2-1)*SS(Y2,N2,J2)))

END IF
10 CONTINUE
DO20J1=2K
Jii=J1-1
DO 2012 = 1,J11
PH(J1,J2) = PH(J2,J1)
20 CONTINUB
RETURN
END
CLCCCCCCOTOCLTCOLOCOCOCCOOCCOCCOOCOCTOOCCCCOCoeoeacee
c FUNCTION SKK | ¢
COCOCCOCOOCCTCCCOCOCECOCOCCOCOOCOOCCTCOCCCOOCeCoCeeoces
DOUBLE PRECISION FUNCTION SKK(Y,N,J1,J2)
DOUBLE PRECISION AVRG,SUM
RBAL Y(50,7)
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COMMON /DVARK
SUM = 0.0
DO0I=1IN -
SUM = SUMHY(@J1)-AVRG(Y,N,J1))*(Y(1,J2)-AVRG(YN,12))
10 CONTINUE ‘

SKK = SUMAN-1)

RETURN

ma.
CCOCCLCCTCCCTOOCOO0COCOCCCOCOCCOCoOoCeoeooceoeoooeocee
c SUBROUTINE CALINP ¢

CCCCCCLCOCCOCCLOCCCOCLLLeCCCCOCCCLCCLLOCCOCCLOTCOCeeCe
SUBROUTINE CALINP(PH,INF)
DOUBLE PRECISION PH(7,7),INP(7,7),A(7,7)
COMMON /DVAR/K
DOSI=1K
DO5SI=1K
A(J) = PH(J)
5 CONTINUE
DO2SL=1K
ALL) = -LO/A(L,L)
DO 101 = 1,K
IF (0-L).NB.0) AQ,L)= -A@,L)*A(L,L)
10  CONTINUE '
DO1SI=1K
DO 157 = LK
IF (I-L)*J-L))NED) A(QJ) = AQ))-AQL)*ALT)
15  CONTINUE |
DO 207 = LK
IF (J-L).NE.O) A(LJ) = -A(LJ)*A(L,L)
20 CONTINUE '
25 CONTINUE
DO301I=1K
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DO 307 = 1K
INP(J) = -AQLJ)
30 CONTINUE
RETURN
END

CCCCOCCCLCCCCCCLLLCCLoCCLCOCCCCCOCLCLOCCCoCCCCLeCClolee
c SUBROUTINE OLS c

CCCCCCCCOCRCCOCCLCCCeceeel ool CLlOCCoCLoCOCCCiCeleee
SUBROUTINE OLS(PH,T,NR3,CF3)

DOUBLE PRECISION PH(7,7),T(7),SUMT1,SUMP1,TOLS!,
. TOLS(35),SUMTY(35), SUMP(35)

INTBGER CP3(7),SRIS(140)IS1(42),152(105),153(140),

* 184(105),185(42),C.IREJ(35),ITEST(35),

*  IT(35,7),STEP,DIM,NUM,DINGS,7),FAC,D1

CHARACTER ECORR, TYPEI

COMMON /DVARK
»  [CRITZ - -

*  JCHAR/ECORR,TYPEI '
DATA IS1/1,2,4,7,11,16,

*1,3,58,12,17,

*2,3,6,9,13,18,

%4,5,6,10,14,19,

*7,8,9,10,15,20,

*11,12,13,14,15,21,

*16,17,18,19,20,21/

DATA 1S2/1,2,5,11,21,1,3,6,12,22,1,4,7,13,23,2,3,8,14,24,2,4,9,
*15,25,3,4,10,16,26,5,6,8,17,27,5,7,9,18,28,6,7,10,19,29,8,9,10,
*20,30,11,12,14,17,31,11,13,15,18,32,12,13,16,19,33,14,15,16,20,34,
*17,18,19,20,35,21,22,24,27,31,21,23,25,28,32,22,23,26,29,33,
*24,25,26,30,34,27,28,29,30,35,31,32,33,34,35/

DATA 153/1,2,6,16,1,3,7,17,1,4,8,18,1,5,9,19,2,3,10,20,2,4,11,21,
*2,5,12,22,3,4,13,23,3,5,14,24,4,5,15,25,6,7,10,26,6 8,11,27,6,9,




10

15

*12,28,7,8,13,29,7,9,14,30,8,9,15,31,10,11,16,32,10,12,17,33,11,12,
*18,34,13,14,19,35,16,17,20,26,16,18,21,27,16,19,22,28,17,18,23,
*29,17,19,24,30,18,19,25,31,20,21,23,32,20,22,24,33,21,22,25,34,
#23,24,25,35,26,27,29,32,26,28,30,33,27,28,31,34,29,30,31,35,
*32,33,34,35/
DATA IS4/1,2,7,1,3,8,1,4,9,1,5,10,1,6,11,2,3,12,2,4,13,2,5,14,
%2,6,15,3,4,16,3,5,17,3,6,18,4,5,19,4,6,20,5,6,21,7,8,12,7,9,13,
»7,10,14,7,11,15,8,9,16,8,10,17,8,11,18,9,10,19,9,11,20,10,11,21,
*12,13,16,12,14,17,12,15,18,13,14,19,13,15,20,14,15,21,16,17,19,
*16,18,20,17,18,21,19,20,21/
DATA IS5/1,2,1,3,1,4,1,5,1,6,1,7,2,3,2,4.2,5.2,6,2,1,3,4,3,5.3,6,
%3,7,4,5,4,6,4,7,5,6,5.7,6,7/
SUMT!I = 0.0
DO 107 = 1,K
SUMT1 = SUMT1 + T())
SUMP1 = 0.0
PO 151=1K
DO 157 = LK
SUMP1 = SUMP1 + PHQ,))
CONTINUE
TOLS1 = SUMT1/DSQRT(SUMP1)
IF (TOLS1.GT.Z) THEN
IF (TYPELEQ.'Y') THEN
. NR3=NR3 +1
ELSE |
CPX(1) = CP3(1) + 1
STEP = 2
DIM = K-STEP+1
NUM = FAC(K,DIM)
CALL INDEX(STEP,DIM,NUM,DIN)
SR = 0

DO 30 I = 1,NUM
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20

30
31

35

SUMT(Q) = 0.0
DO 20 J = 1,DIM
L = DINQ,J)
SUMT(I) = SUMT(Q) + T(L)
CONTINUE
SUMPE() = 0.0
DO 25 J1 = 1,DIM
DO 25 J2 = 1,DIM
'L1 = DINQ,J1)
L2 = DIN@2)
SUMP() = SUMP() + PH(L1,L2)
CONTINUE
TOLS(I) = SUMT()/DSQRT(SUME())
IF (TOLS(1).GT.Z) THEN
SR=SR +1
IREX(SR) = I
END IR

CONTINUE
CP3(STEP) = CP3(STEP) + SR
IF (SR.GT.0.AND.STEP.LT.K) THEN

STEP = STEP + 1
DIM = DIM - 1

NUM = FAC(K,DIM)
IR (STBP.LT.K) THEN

CALL INDEX(STEP,DIM,NUM,DIN)

ELSE
DO 351=1NUM
DINQ,1) =1
END IF
D1 = DIM + 1
MAXJ = FAC(D1,DIM)
IF (STEP.BQ.3) THEN
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36

37

38

39

41

45

DO36I - 1,42
IS() = IS1(T)
C=6
BLSE IF (STEP.EQ4) THEN
DO 371 - 1, 105
IS@) = IS2q)
C=5
ELSE IF (STEP.EQ.5) THEN
DO 381 = 1,140
1S() = IS3(T)
C=4
BLSE IF (STEP.EQ.6) THEN
DO 391= 1,105
I15@) =154D)
C=3
ELSE
'DO40I=142
ISA) = IS5Q7)
C=2
END IF
DO 411I=1SR
DO 41 J = 1, MAXJ
L=C*JREID)-1) +7T
IT1J) = IS(L)
CONTINUE
DO 45 J = 1 MAXY
ITBST() = IT(1.J)
IF (SR.GB.2) THEN
M = MAXTJ
DOSOI=2SR
DO 50 J = 1 MAXJ

CALL INSERT (ITESTM.IT,LY)
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50

55

65

70

CONTINUB
ENDIF
SR =0
DOSSI=1M
L = ITBST()
SUMT(L) = 0.0
SUMP(L) = 0.0
CONTINUE
DO 701= 1M
L1 = ITESTQ)
DO 60 J = 1,0IM
L2 = DINCLLY)
SUMT(L1) = SUMT(L1) + T(L2)
CONTINUE
DO 65 J1 = 1,DIM
DO 65 J2 = 1,DIM
L3 = DIN(L1,J1)
L4 = DIN(L1,72)
SUMP(L1) = SUMP(L1) + PH(L3,1L4)
CONTINUE
TOLS(L1) = SUMT(L1)/DSQRT(SUMP(LL))
IF (TOLS(L1).GT.Z) THEN
SR = SR + 1
IREJ(SR) = L1
END IF
CONTINUE
GOTO 31

END IF

END IF

END IF
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SUBROUTINE GLS(INP,T,NR4,CP4)
DOUBLE PRECISION INF(7,7),T(7),SUMT1,SUMP1,TGLS1,

» TGLS(35),SUMT(35),SUMP(35)

INTEGER CP4(7),SR,1S(140),151(42),I152(105),153(140),

. NR4,154(105),185(42),C,IREI(35),I TEST(35),

*  ITGS,T),STEP,DIM,NUM,DINGS,T),FAC,D!

CHARACTER ECORR,TYPEI

COMMON /DVAR/K
* /CRIT/Z
*  /CHAR/ECORR,TYPEI
DATA IS1/1,2,4,7,11,16,

*1,3,5,8,12,17,

*2,3,6,9,13,18, -

*4,5,6,10,14,19,

*7,8,9,10,15,20,

*11,12,13,14,15,21,

*16,17,18,19,20,21/

DATA 152/1,2,5,11,21,1,3,6,12,22,1,4,7,13,23,2,3,8,14,24,2,4,9,
*15,25,3,4,10,16,26,5,6,8,17,27,5,7,9,18,28,6,7,10,19,29,8,9,10,
*20,30,11,12,14,17,31,11,13,15,18,32,12,13,16,19,33,14,15,16,20,34,
*17,18,19,20,35,21,22,24,27,31,21,23,25,28,32,22,23,26,29,33,
%24,25,26,30,34,27,28,29,30,35,31,32,33,34,35/

DATA 183/1,2,6,16,1,3,7,17,1,4,8,18,1,5,9,19,2,3,10,20,2,4,11,21,
*2,5,12,22,3,4,13,23,3,5,14,24,4,5,15,25,6,7,10,26,6,8,11,27,6,9,
*12,28,7,8,13,29,7,9,14,30,8,9,15,31,10,11,16,32,10,12,17,33,11,12,
*18,34,13,14,19,35,16,17,20,26,16,18,21,27,16,19,22,28,17,18,23,
*29,17,19,24,30,18,19,25,31,20,21,23,32,20,22,24,33,21,22,25,34,
%23,24,25,35,26,27,29,32,26,28,30,33,27,28,31,34,29,30,31,35,

172



15

173

*32,33,34,35/

' DATA 154/1,2,7,1,3,8,1,4,9,1,5,10,1,6,11,2,3,12,2.4,13,2,5,14,

*2,6,15,3,4,16,3,5,17,3,6,18,4,5,19,4,6,20,5,6,21,7,8,12,7,9,13,
*7,10,14,7,11,15,8,9,16,8,10,17,8,11,18,9,10,19,9,11,20,10,11,21,
*12,13,16,12,14,17,12,15,18,13,14,19,13,15,20,14,15,21,16,17,19,
»16,18,20,17,18,21,19,20,21/
DATA 155/1,2,1,3,1,4,1,5,1,6,1,7,2,3,2,4,2,5,2,6,2,7,3,4,3,5,3,6,
*3,7,4,5,4,6,4,7,56,5,1,6,7/
SUMTI = 0.0
SUMP1 = 0.0
DO15SI=1K
DO15Y=1K
SUMTI1 = SUMT1 + INPA1)*T(J)
SUMP1 = SUMP1 + INP(,J)
CONTINUE
TGLS1 = SUMT1/DSQRT(SUMP1)
WRITE {*,* 'TGLS1=", TGLS1
IF (TGLS1.GT.Z) THEN
IF (TYPELEQ.'Y) THEN
NR4 = NR4 + 1
ELSE
CP4(1) = CP4(1) + 1
STEBP =2
DIM = K-STEP+1
NUM = RAC(K,DIM)
CALL INDEX(STEP,DIM,NUM,DIN)
SR=0
DO 301 = 1,NUM
SUMTQ) = 0.0
SUMP(Q) = 0.0
DO 25 J1 = 1,DIM
DO 25 J2 = 1,DIM



30
31

35

36

- 37

L1 = DINGJ1)
L2 = DIN(L,J2)
SUMT() = SUMT({) + INP(L1,L2)*T(L2)
SUMP() = SUMF() + INP(L1,L2)
CONTINUE
TGLS() = SUMT(T)/DSQRT(SUMP())
WRITRB (*,*) ‘'TGLS(\L,)=TGLS(®)
IF (TGLS().GT.Z) THEN
SR=SR+1
IREJ(SR) = I
END IF

CONTINUE
CPA(STEP) = CP4(STEP) + SR
IF (SR.GT.0.AND.STEP.LT.K) THEN

STEP = STEP + 1
DIM =DIM - 1
NUM = FAC(K,DIM)
IF (STEP.LT.K) THEN
CALL INDEX(STEP,DIM,NUM,DIN) " -
BLSE
DO 35 I = 1,NUM
DIN(Q,1) = I
END IF
D1 = DIM + 1
MAXJ = FAC(D1,DIM)
IF (STEP.EQ.3) THEN
DO 361 =142
1SQD) = ISIQT)
C=6
ELSE IF (STEP.EQ.4) THEN
DO 371 = 1, 105
I1SQ) = IS2(1)
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39

41

45

Fid

C=5
BLSE IF (STBP.EQ.5) THEN
DO 381=1,140
IS@) = IS3(D)
C=4
BLSE IF (STEP.BEQ.6) THEN
DO 391 = 1,105
I1S(Y) = IS4q)
C=3
ELSBE
DO40I=142
IS() = IS5(T)
C=2
END IF

- DO411=1,SR

DO 41 J = 1,MAXJ
L= C*IREXT) - 1) +J
ITA) = IS(L)
CONTINUE
DO 45 J = 1,MAXJ
ITEST(J) = IT(1,7)
IF (SR.GE.2) THEN
M = MAXJ
DO 50 I = 2,SR
DO 507 = 1,MAXJ
CALL INSERT (ITEST,M,IT,LJ)
CONTINUE
END IF
SR =0
DOSSI=1M
L = ITEST()
SUMT(L) = 0.0

175




~ SUMP(L) = 0.0
55 CONTINUE
DO 701 = 1M
L = ITEST()
DO 65 J1 = 1,DIM
DO 65 J2 = 1,DIM
L1 = DIN(LJ1)
L2 = DIN(L,J2)
SUMT(L) = SUMT(L) + INF(L1L,L2)*T(L2)
SUMP(L) = SUMP(L) + INP(L1,L2)
65 CONTINUE
TGLS(L) = SUMT(L)/DSQRT(SUMP(L))
IR (TGLS(L).GTZ) THEN
SR = SR + 1
IRBJ(SR) = L.
END IF
70  CONTINUE a
GOTO 31
END IF
END IF
ENDIF .
RETURN
END

CCOCELCOCCLOCOLCCLCCCCOO0OCOCCOOCOCCOCEOEOCOCOCCococes
¢ SUBROUTINE INDEX ¢
CCCCLLCLCCCOOCOOOTCLOCOLOCOTTOOCCCLOTCLCOLOCOTCCCOeCs
SUBROUTINE INDEX(STEP,DIM,NUM,DIN)
INTEGER STEP,DIM,NUM,DIN(35,7),D1,DJ,DJ1,DJ2,FAC,
. C1,C2,C3,C4,C5,06,C7,C8,09,C10,
* C11,C12,C14,C15,CC9,C9C,091
COMMON /DVAR/K
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IF (STEP.GT.2) THEN
C3 = NUM - DIM
Kl=K-1
‘D1 =DIM -1
IF (STEP.EQ.3) THEN
C6 = PAC(K1,D1)
C7 = C6 - DIM
CB=C7-DIM+1
 ELSE
K2=K-2
1F (STEP.BQ.4) THEN
CC9 = FAC(K1,D1)
C9C = FAC(K2,D1)
BLSB
K3=K-3
IF (STEP.EQ.S) THEN
CC9 s FAC(K1,D1) + FAC(K2,D1)
C9C = FAC(K3,D1)
ELSB
Ké=K-4
CC9 = FAC(K1,D1) + FAC(K2,D1) + FAC(K3,D1)
C9C = FAC(K4,D1)
END IF
END IF
C9 = CC9 + C9C
C12 = C9 - DIM
Cl4=K-DIM+1
Cl1$ = Cl4 + STEP - 1
END IF
END IF
DO 15 J = 1,DIM
KJ = K-J
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DJ = DIM-J
C1 = FAC(KJ,DJ)
C2 = NUM -J
IF (STEP.GT.2) THEN
KI1=K-J-1
KI2=K-J-2
C4 = C1 + FAC(KJ1,DJ)
CS = C4 + PAC(KJ2,DJ)
IF (STEP.GT.3) THEN
DI2 = DIM - J 42
DIl =DIM-J+ 1
C10 = CC9 + FAC(DI2,D))
Ci1 = C10 + FAC(DI1,DJ)
END IF
END IF
DO 10 = 1,NUM
IF (L.LE.C1) THEN
DING,J) = J
BLSE IF (L.GT.C2) THEN
DINGL,]) = J+STEP-1

ELSE IF (I.GB.C3.AND.I.LE.C2) THEN

DINQ,J) = J+STEP-2

BLSE IF (.GT.CL.AND.ILE.C4) THEN

DING,J) = J+1

ELSE IF (1.GT.C4.AND.ILE.C5) THEN

DIN{,)) = J+2
BLSE IF (J.EQ.1) THEN
DIN{,]) = J+3

BLSE IF (I.BQ.CC9.0R.1.EQ.C9) THEN

DIN(,J) = J+STEP-1
ELSE IF (STEP.EQ.3) THEN
GOTO 10
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ELSE IF (I.GT.CC9.AND.I.LE.C10) THEN
DIN(L,J) = J+STEP-3
ELSE IF (I.GT.C10.AND.ILE.C11) THEN
DIN(,J) = J+STEP-2
END IF
10  CONTINUE
1S CONTINUE
IF (STEP.BQ.3) THEN
DO 25 J = 3,DIM
 KI=K7J
DJ = DIM-J
KJ1 = K-J-1
KJ2 = K-J-2
KS = FAC(KJ,DJ) + FAC(KJ1,DJ) + FAC(KJ2,DJ) + 1
DO 20 I = KS,C6
IF (.GT.C7.ANDLLE.C6) THEN
DINQ,J) = DIN(I+DIM,J)
ELSE IF (1.GT.C8.ANDI.LE.C7) THEN
DINQ,J) = DIN(i+2*DIM-1,7)
BLSE
| DIN(,J) = DING+2*DIM+2,])
END IF
20 CONTINUE
25  CONTINUE
END IF
IF (K.BQ.7) THEN
IF (STEP.EQ.4.0R.STEP.EQ.5) THEN
DO 40 T = 3,DIM
C91 = C9-1
DO 30 I = C12,091
DINQ,J) = DING+DIM,J)
30 CONTINUE
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35

50

. 55

60

IF (BQ.4) THEN
DO 35 I = 23,25
DING.J) = DING+3,J)
CONTINVE
END IF
CONTINUE
END IF
IF (STEP.EQ.4) THEN
DO 557 =34
DO 45 1 = 10,19
DING,J) = DIN(+10,J)
IF (J.EQ.4) THEN
DO 501 =49
DIN(,J) = DIN(I+6,J)
END IF
CONTINUE
. ENDIR | - X
IR (STEP.GT 4) THEN
J =DM
KI=K-J
DJ = DIM-J
KJ1 = K-J-1
KJ2 = K-1-2
KS = FAC(KJ,DJ) + RAC(KJ1,DI) + FAC(KI2,DJ) + 1
DO 60T = KS,C15
IF (LLE.C14) THEN
DINGL,J) = [+DIM-1
ELSE IF (L.GT.C14.AND.LLE.C15) THEN
DIN,J) = DINQ-STEP+1,3)
END IF
CONTINUE
IF (STEP.EQ.6) THEN
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DOGSI= 12,14

65 DIN(,J) = DIN(-4,))
ELSE
DO 701 = 10,12
70 DIN(LJ) = DIN(-3,7)
DO 90 J =23

DO 751 = 24,20,-1
75  DINQ,J) = DING#6,)
DO 801 = 19,16,-1
80 DINQ,J) = DIN(-10,J)
DO 85I = 13,15
85 DING,J) = DING+10.)
90 CONTINUE
END IF
END IF
END IF
RETURN
END
CLCCOCLCOCCCLLCCOLCLLLLLCOLLLLLOCCOLLOLoCoocococeococoeee
c SUBROUTINE INSERT c
CCCCLCCCLLCLOCOCCOCLLCLoCLLLlooeLoClollCCeeoooioeeoeece
SUBROUTINE INSERTQTEST,M,IT.1,J)
INTEGER ITEST(35)IT(35,7)
L=1 |
5 IR (ITQ,]).GTITEST(L).AND.LLLEM) THEN
L=L+1
GOTO §
ELSE
IF(L.GT.M) THEN
ITEST(L) = IT(,D)
M=M+1
BLSE



IF IT(,7).BQITEST(L)) THEN
GOTO 20
BLSE
DO 10 N = M,L,-1
10 ' ITEST(N+1) = ITEST(N)
ITEST(L) = IT(L,J)
M=M+1
END IF
END IF
END IF
20 RETURN
END
CCOCCOCCCLCCCOCOCCCCLOCCCOOCLCCOLCOCCCCLOCLLCeOCCLioce
c SUBROUTINE WFY c
CCLCCOCTCLCLLOCCLCCCCOOOTCCLCCCCOCCCOCOCCOLLCCCCCCoeiee
SUBROUTINE WFY(Y1,Y2,T,PV,IND,RPR3)
DOUBLE PRECISION T¢7!
REAL Y1(50,7),Y2(50,7),POP(100,7),X 1(50,7), X 2(50,7),
*»  PV(7),PVL(7),PADI(7),MINP,MINFV
INTEGER IND(7),RPR3,E(7)
COMMON/DVAR/K
*  /SSEED/LSX
*  /NUM/N1N2
»  JALPHA/AL
DO SI=1K
5 B@=0
. NT=N1+N2
DO 101 = I,NT
DO 107 = LK
IF (LLB.N1) THEN

POPQ,)) = Y14,))
ELSE
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POPQ@,J) = Y2(I-N1,))
END IF
19 CONTINUE
NSR = 1000
DO 20 = 1,NSR
CALL SAMP(POP,NT,N1,X1)
CALL SAMP(POP NTN2X2)
CALL CALPV(X1X2PVL,T)
DO 15J=1K.
MINPV = MINP(J,IND,PVL)
IF MINPV.LEPV(])) ED =B + 1
15 CONTINUR
20 CONTINUE
RPR3=0
DO251=1K
R = NSR
PADI(I) = EQ)R
IF (PADI({).LEB.AL) THEN
RPR3 = RPR3 + 1

BLSE
GOTO 30
END IF
25 CONTINUE
30 RETURN
END
CLLOLLTLLTLLCLLTLLOLCLTTOCOBOCCCCTTTOCOCTCCCCLCCICTEOs
¢ SUBROUTINE SAMP ¢
COCCLLCLCLLLLLOTCLTOOCOCCO0CO0OCOCOOCLOOCTCOOOCOLTCOOE
SUBROUTINE SAMP(POP,NT,N,X)
REAL POP(100,7),X(50,7),PROB(100)

COMMON /DVAR/K
*  /SSBBDASX
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DO 101 = 1,NT |
10 PROB(I) = FLOAT(I)/FLOAT(NT)
DO30L = 1N
CALL SRD(SRAND)
R = SRAND
DO 201 = INT
11 =I-1
IF ([1.BQ.0) THEN
 P1=00
ELSE
P1 = PROB(1)
END IF
P2 = PROB(T)
IF (R.GT.P1.AND R LE.P2) THEN
DO15SJ=1K
15 X(L.J) = POP(,)
GOTO 30
END IF
20 CONTINUE
30 CONTINUE
RETURN
END
CCCCCCCCCLLCOCLOCCLCLCLLoCCCCLCCLLOOCCOLCCCCCCCCoCCoeCe
¢ SUBROUTINE SRD(SRANDOM) c
ceeeceeeoceooecceoececceecceceececcecocecococcecececceec
SUBROUTINE SRD(SRAND)
COMMON /SSEED/LSX
CON = 2147483647
LSY = LSX*16807
IF (LSY.LT.0) LSY = LSY+CON+1
SRAND = LSY
SRAND = SRAND/CON
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LSX = LSY

RETURN

END
CLECOLCLOLCOCCOCCOCOCLCOCCCCOCCLCLCCCLCCOCCCeOCCooCers
c FUNCTION MINP c

CCLCLOCLCCCCCECCCCOCCOOCCOOCSCOCoCCOECCOCCCOCLLCClieol
RBAL FUNCTION MINP(START,IND,PVL)
REAL PVI(7)

INTEGER INIX7),START,S1
COMMON /DVARK
MINP = PVL(INDXSTART))
IF (START.LT.K) THEN
S1=START + 1
DOSI=S§1K
L = IND()
MINP = AMIN1(MINP,PVL(L))

-5 CONTINUE

END IF

RETURN

END
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